1. Find the value of the missing side marked ‘7’
Round your answer to the nearest tenth of a unit.
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2. Find the value of the missing side marked 7’
Round your answer to the nearest tenth of a unit.
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3. Find the value of the missing angle marked %’
Round your answer to the nearest tenth of a unit.
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4. Find the value of the missing angle marked ‘7’
Round your answer to the nearest tenth of a unit.
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5. Find the length of line segment AB.

Round your answer to the nearest tenth of a meter.
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6. Find the length of line segment CD

Round your answer to the nearest tenth of a unit.
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